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The figures in the margin indicate full marks.

1. Answer any fwo questions : 5#2
(a) Mention any two distinctions between deductive and inductive argument.
(b) What is meant by ‘existential import’ of a categorical proposition? Explain with examples.
(¢) Reduce the following sentences into standard form categorical propositions :

(1) All glittering things are not gold.

(i) Circles are not rectangles.

(i) Only members can use the front door.

(iv) Black swans exist.

(v) Things made of glass are fragile.

(d) If A, B, C are true and X, Y, Z are false, determine the truth value of the following statements
(any two)

0 [AB2Y)]>Z

(@) [(A-X)>C]o[(A>C)>X]

(i) [(A-X)>Y]2[(X2A)D(ADY)]
2. Answer any twe questions :

(a) (i) What is obversion?
(ii) Mention the rules of obversion.
(ii) Give the obverse of the following propositions :
(A) Some men are not industrious.

(B) All mathematicians are scientists. 2+5+(1Y+1%)

(b) What is meant by opposition of propositions? Explain with examples, different kinds of opposition
of propositions. Under what conditions are two propositions said to be contrary propositions
exemplify? 44442

(¢) (i) Explain, with suitable examples, the difference between tautological and self-contradictory
propositional form.
(i) Distinguish between inclusive ‘or’ and exclusive ‘or’ with illustrations. 5+5
(d) (i) Explain with examples the “fallacy of undistributed middle’ and ‘fallacy of four terms’.

(ii) Explain the ‘fallacy of exclusive premises’. (3+3)+4
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3. Answer any three questions :
n the categorical propositions on the basis of class

(a) What do you understand by ‘class™? Explai n :
‘A’, ‘E’, ‘I’ and ‘O’ propositions and why?

relationship. Which terms are distributed in
2+8+5

(b) (i) Give, where possible, the obverse of the converse of the following :
(A) Only Eskimos live in Greenland.
(B) Blessed are the simple.
(C) No news is good news.
(D) Soldiers are not cowards.
(i) Can ‘O’ proposition be converted? If not, why?

(iii) What is meant by existential fallacy? 8+4+3

the fallacy, if found invalid

(c) Test the validity of the following arguments by Venn diagram and name
5%3

(any three) :
(i) EAO— 4th Figure
(i) AIl— 2nd Figure.

(iii) Only Naiyayika-s are philosophers. Carvakas are not Naiyayikas. Therefore Carvakas are
not philosophers.

(iv) Since Philosophers are men, they are not perfect, because no men are perfect.
(d) (i) Use truth table to determine the validity or invalidity of the following arguments :
A) (PvQ)>(P-Q)
~(PvQ) /.~ (P-Q)
(B) KvL
K/:.~L
(C) dvh)oa-J)
~(Iv]) /o~(1-))

(i) What is the truth condition of conditional statement form? (4x3)+3

(e) Explain and examine Mill’s joint Method of Agreement and Difference. 10+5
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